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Answer all guestions,
Part A

Differentiate hetween surge divertor and surge ohsorher.
E=xplain the terms ; {i) rEEhlilring voltage ; (i) RRRV.

Write short notes on (i) Earth fault protection for alternator.
Write short notes on relaying time.

What are the characteristics of 8 traction motor ?

Dizeuss the fundamentals of d.c. arc welding.

Define Harmonics. What are the different sources of harmonics 7

Write chort note on energy conservation in electric motors.

{8 » § = 40 marks)

Part B
Explain the construction and working of SF circuit breaker also command about its merits
and demerits.
O

A 10MVA 132 LV transformer is connected to the end of a transmission line of surge impedance
400 ohm. The transformer has an equivalent capacitance of 0.002 microfarad and leakage

inductance of 16 Henry. If rectangular wave of 1,000 kV travels through the line and strikes
the transformer find the surge voltage on the transfermer.

Deseribe the prineiple of differential protection system applied to Delta-star connected
transformer.

O
State the various methods of neutral earthing of generators, Explain their merits and hmitation.

What do you mean by resistance welding 7 How does it differ from : (a) Spot welding ;
i) Describe butt welding and its various applications 7

Or
(i) State the advantages of electric heating and explain the various methods of heat fransfer.
(8 marks)
{ii} E=xplain the high frequency method of electric heating and state its application.
(T marks)
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V. (a) What are the main ohjectives in designing the zize and branches of AC Hormonic filters and
DC harmonic filters in a HYDC substation 7

Or
ik} (i) What are DC characteristic Harmonics for n 12 pulse converter 7 Explain. (8 marks)
{ii) Write short note on mitigation method. (7T marks}

[4 = 15 = 60 marlks]



